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  DFYSGP2 

  I, 2015-16 

SUMMATIVE ASSESSMENT – I, 2015-16 

 / SCIENCE 

IX / Class – IX 

 3             90 

Time Allowed : 3 hours     Maximum Marks : 90 

 

1. 

2. 

3. 

4. 1 3 

5. 4 6 30-30 

6. 7 18 50-50  

7. 19 24 70-70  

8. 25 33 

 

9. 34 36 

 
General Instructions : 
1. The question paper comprises of two Sections, A and B. You are to attempt both the 

sections. 
2. All questions are compulsory 
3. All questions of Section-A and all questions of Section-B are to be attempted separately. 
4. Question numbers 1 to 3 in Section-A are one mark questions.  These are to be answered in 

one word or in one sentence 
5. Question numbers 4 to 6 in Sections-A are two marks questions.  These are to be answered 

in about 30 words each. 
6. Question numbers 7 to 18 in Section-A are three marks questions.  These are to be 

answered in about 50 words each
7. Question numbers 19 to 24 in Section-A are five marks questions.  These are to be 

answered in about 70 words each. 
8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical 

skills.  Each question is a one mark question.  You are to select one most appropriate 
response out of the four provided to you. 

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each 
question is of two marks. 
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  SECTION-A 

 

 

 1  

Name the tissue which is responsible for increase in girth of the stem and root.  

 

1 

 2  

Give one importance of the universal law of gravitation. 

 

1 

 3 

While playing football the goalkeeper didn’t get sufficient time to stop a fast ball shot towards 

him. Why did he hurt his hand while doing so ? 

 

1 

 4  

Gases completely fill the vessel in which they are kept.  Give reasons. 

 

2 

 5  

(1) 

 

(2)  

(3)  

(4) 

Give one word for the following : 

(1) Group of cells with similar structure and designed to give highest  efficiency of 

function. 

2 
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(2) The process of taking up a permanent shape, size and function. 

(3) Animal tissue connecting muscle to bones. 

(4) Kidney shaped cells that enclose stomata. 

 

 6 5 m   

  

A particle is moving along a circle of diameter 5 m.  Calculate the displacement and the 

distance covered when it completes three revolutions.  

 

2 

 7  

To obtain salt from sea water, which technique is better, crystallisation or evaporation ? Why? 

 

3 

 8  

What do you observe when ice cubes are put in a beaker containing water ?  Give reason for 
your observation. 

 

3 

 9 (a)  

(b) 60C  

(c)  

(a) State the factor on which dilution or concentration of a solution depends. 

(b) What would be observed when a saturated solution of potassium chloride at 60C is 
allowed to cool at room temperature ? 

(c) Name the process involved in squeezing out water from wet clothes in washing 
machine. 

 

3 

 10 (i)  

(ii)  

3 



 

Page 4 of 15 

(i) Where are chromosomes present in the cell ?  What is their chemical composition ? 

(ii) How many pairs of chromosomes are present in humans ? 

 

 11  

(a)  

(b) 

(c)  

Give two features of each of the following tissues : 

(a) Tissue that stores fat in our body. 

(b) Tissue that receives and transmits impulse in our body. 

(c) Tissue that controls contraction and relaxation of blood vessels. 

 

3 

 12  

(i)   (ii)  (iii) 

On what factors do the magnitudes of the following physical quantities depend? 

(i) Momentum (ii) Force. (iii) Inertia. 

 

3 

 13 44.1 m B 

 B 

 

A ball A is dropped from a 44.1 m high cliff. Two seconds later, another ball B is thrown downwards 

from the same place with some initial speed. The two balls reached the ground together. Find the 

speed with which the ball B was thrown.    

 

3 

 14 (a) 3 
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(i)

(ii)

(b) 

 

(a) Differentiate between : 

 (i) Speed and Velocity  

 (ii) Displacement and distance 

(b) Is it possible for a body to have its velocity and acceleration pointing in opposite 

directions ?  Justify giving an example. 

 

 15 

 

Explain, why it is difficult for a fireman to hold a hose ejecting large amount of water at a high 

velocity. 

 

3 

 16  750 N   

(i)  38%  

(ii)  ( g = 10 m/s2)? 

Mona weighs 750 N on Earth.  

(i) On the planet Mars, the force of gravity is 38% of that of Earth. How much will   Mona weigh 

on Mars? 

(ii) What will be Mona’s mass on Earth ( g = 10 m/s2) ? 

 

3 

 17 3 
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(i) 

(ii) (a)  (b)   

(iii) 

Kushagra was fussy eater.  His mother emphasized on the need for balanced diet for proper 

growth and good health.  His sister Radha who followed her teacher’s advice that the meal 

should have dishes of different colours like vegetables, dal, dahi, chapatti, rice, salad, fruits 

must constitute the meal.  So she was always healthy and she always had full attendance in 

school. 

(i) What do fruits and vegetables give ? 

(ii) Give one example of plant source which provides (a) proteins,  

(b) carbohydrates.  

(iii) Mention two values that Radha has but Kushagra lacks. 

 

 18 

(a)

(b)

(c) 

Give one word for the following and give one example of each :  

(a) Growing one row of crop alternately with the other crop. 

(b) Growing two or more crops simultaneously in the same field. 

(c) Growing of different crops on a land in pre - planned succession.  

 

3 

 19 A, B  C 

(a)  

5 
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(b)  

(c) /  

(d)  

(e) 

Three students A, B and C  prepared mixtures using chalk powder, common salt and milk 

respectively in water.  Whose mixture – 

(a) would not leave residue on filter paper after filtration ? 

(b) would show tyndall effect ? 

(c) would give transparent /clear solution ? 

(d) would settle down at the bottom when left undisturbed ? 

(e) could be filtered by filter paper ? 

 

 20 (a)  

(b)  

(c)  

(a) Define latent heat of vaporisation. 

(b) Out of boiling water or steam, which produces severe burns and  why ? 

(c) Mention one similarity between evaporation and boiling. 

 

 

5 
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 21 (a) 

 

(b)  

(a) Explain the formation of complex permanent tissue in plants.  Mention two types of 

complex tissues and write their functions. 

(b) How simple permanent tissues are different from complex permanent tissues ? 

 

5 

 22 (a)  

(b)  F A 1 

m  

  

(a) Draw a distance-time graph for an object in non-uniform motion with increasing and 

decreasing slope. 

(b) A person starts at F, walks along the path and finishes at A, as shown in the diagram 

below.  Each square is 1 m along its edge.  Use the diagram to find the distance and 

displacement of the person. 

  

 

5 
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 23 

800 kg 200 N 

  

State Newton’s first law of motion. Show that Newton’s first law of motion is a special case of 

Newton’s second law. Determine the acceleration of a car of mass 800 kg, on application of a  

force of 200 N on it. 

 

5 

 24 (a)  

(b)  

(c) 

 

(d) 

(a) Name two products obtained in bee keeping.  

(b) What are the desirable traits of bee varieties suitable for honey production? 

(c) Give the scientific name of the Italian bee commonly used for commercial honey 

production 

(d) What is pasturage and how is it related to honey production?  

 

5 

   / SECTION - B 

 

 

 25  

(a)   (b)  

(c)     (d)  

Metanil yellow is adulterant of food material : 

(a) Turmeric powder  (b) Pulses 

(c) Spices    (d) Seeds 

1 
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 26 

 

(a)     (b)  

(c)     (d)  

In a sample of food iodine solution is used to detect the presence of : 

(a) Proteins   (b) Starch 

(c) Sugar    (d) Fats 

 

1 

 27 /  

(a)  

(b)  

(c)  

(d)  

Carbon disulphide should be kept away from the flame as : 

(a) It is a toxic liquid. 

(b) It is a supporter of combustion. 

(c) It is a combustible liquid. 

(d) It is corrosive. 

 

 

1 

 28  

(a)     (b)  

(c)     (d)  

1 
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Sulphur powder and iron filings were mixed in a china dish. The colour of sulphur powder 

observed by students is : 

(a) black    (b) grey 

(c) yellow    (d) reddish 

 

 29 

 

(a)  

(b)  

(c)  

(d)  

Komal heated some crystals of copper sulphate in a boiling tube and noted the water droplets 
along the walls of the tube and the colour of crystals changed from blue to white. This is 
because : 
(a) Hydrated copper sulphate is white 
(b) Anhydrous copper sulphate is white 

(c) Copper sulphate displaced Cu2+ ions 

(d) Copper sulphate displaces 2
4SO  ions 

 

1 

 30 A, B, C D

  

  

  

1 
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 (a) A  (b) B  (c) C (d) D 

Four students A, B, C and D marked an onion epidermal cell seen under a microscope as 

below.  The correct labelled diagram is of the student : 

   

   

 (a) A  (b) B  (c) C (d) D 

 

 31 A B  

 

(a) A - B -    (b) A -  B -  

(c) A - B -    (d) A -  B - 

 

In the following diagram; the correct labeling for A and B is : 

1 
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(a) A - Nucleus ; B - Dendrite  (b) A - Dendrite ; B - Axon 

(c) A - Axon ; B - Nucleus  (d) A - Dendrite ; B - Nucleus 

 

 32   

(a)  

(b)  

(c)  

(d)  

The correct order of methods applied to separate the components of a mixture of common 

salt, sand and ammonium chloride is : 

(a) Dissolving in water, evaporation and sublimation  

(b) Dissolving in water, filtration, evaporation and sublimation.  

(c) Sublimation, dissolving in water, filtration and evaporation.  

(d) Moving a magnet, dissolving in water and sublimation   

 

1 

 33 

200 gwt 100g wt 

1 
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90g wt. 

(a)   0-100gwt ;  1.0gwt 

(b)   0-200gwt ;  2.0gwt 

(c)   0-250gwt ;  2.0gwt 

(d)   0-500gwt ;  5.0gwt 

, A student performed the experiment “To establish relationship between weight of a 

rectangular wooden block lying on a horizontal surface and minimum force required to just 

move it using a spring balance”.  If the weight of the given wooden block is nearly 200g wt 

and three known weights of 100g wt each are to be successively placed on the wooden block 

to take three more readings, then which one of the following spring balances, available in 

the laboratory would you select for the best results in the experiment ?  It is known that a 

force of  

90g wt is required to just move the block on the surface. 

(a) Range 0-100g wt ;  Least count 1.0g wt 

(b) Range 0-200g wt ;  Least count 2.0g wt 

(c) Range 0-250g wt ;  Least count 2.0g wt 

(d) Range 0-500g wt ;  Least count 5.0g wt 

 

 34 

 

If aqueous solution of alum is given to you, how would you determine its nature ?  List two tests along 

with their results in this case. 

 

2 

 35 3–4 cm

 

Why should the bulb of the thermometer be kept about 3–4 cm above the surface of water while 

determining the boiling point of water?  Explain briefly. 

 

2 
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 36  10 

9.2g 4g 

 

A group of students selected 10 raisins with stalks and weighed them using digital balance.  Then they 

soaked them for few hours the weight of swollen raisins was 9.2g which was 4g more than the weight 

of dry raisins.  Calculate the water imbibed by the raisins. 

 

2 
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